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J' 1. (a) Choose the correct answer : ' 1x4=4
(i) The method of costing used in a

refinery is process costing/job
costing.

(i) The practice of charging all costs
to product is absorption costing/
batch costing.
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(2)

(i) Administration expenses are mostly
fixed/variable.

(v} Variable cost per unit remaing
same/increases when the volume of
production increases.

(b) Fill in the blanks : 1x4=4
(M) ﬁxma cost per unit with rise |
In output and with fall in

output.

() Under the ABC analysis of material
control, A stands for items. !

(i) Muster roll is necessary for the
preparation of the .

 (iv) Fixed overhead cost is a cost.

2. Answer the following (any foun : 4x4=16

(@) “Classification of cost plays a vital role
In ascertaining cost.” Explain this
statement.

{b) Give five differences between Cost
Accounting and Financial Accouriting.
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(3)

(c) Give four reasons of under-absorption

and over-absorption of overheads,

(d) What is ABC analysis? How is it differ
from VED analysis? A
Give four differences between Job

ot Costing and Process Costing.
3. (a) From the following information, prepare
a Cost Sheet showing the cost and :
profit : ; 14
L

Opening raw material 29,500

Closing raw material 36,000

' Opening work-in-progress :
Material 13,600
Wages 11,000
Works overhead 6,600

Closing work-in-progress :
Material 12,000
Wages 16,500
Works overhead ; 9,900

Opening finished mmomm.lwoo. units @
T 84 : e
Closing finished goods—1600 units -

. R 4
Purchase of raw material ; ﬁ@ub&d :
Carriage on vﬁnnsww.o« daca IO 1,500
Sale of scrap of raw material A ...m.,‘ona :
Wages : ; 5 Q .mhq.voco_
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(b)

4. (a)

S P16/75T7 |

head @ 60% of direct EvoE,

er
Works oV ative overhead @ ¥ 12 per

cost. Administr
unit @ﬂomsom&

Selling and Emgcﬁaos o<o2gmmam @
20% of selling price
Sales 7600 units at & profit of 10% on
cost price

Or
“The vmﬂvmg& inventory system is
an integral part of material control.”

Discuss this statement by bringing out
the salient features and advantages of

this system.

From the following particulars, work out

the earnings for the week of a worker -

under the—

(i) straight piece rate system;

: (i) differential piece rate system,;
(iii) Halsey premium system;

{iv) Rowan system :

Number of working hours
, per week—48 hours
 Wages per hour—¥ 3-75
- Rate per piece—? 1:50
Normal time per piece—20 ::E:om

14

( Continued)

i
£
¢

(5

Normal output per week-—12( plecey

Actual output for the samxiwua pleces

Differential piece rate : ;
80% piece rate Erna eﬁn? is vlaﬂ g
standard 120%  when Qﬁvﬁm 18
above standard :

Or

() What is idle time? Discuss its causes.

How is it treated in Cost Accounting?
. 4+6+4=14

S. (a) From the following details, compute mﬁ
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hourly rate of a machine Swgwoa ina
shop : 4 ‘14

Cost of machine—% 2,00,000
Installation charges—€ 20,000
Estimated scrap value—¢ 10,000
Rent and rates of the shop p.a—% 7,200
General lighting of the shop p.m.—¥ 800
Insurance premium for the machine

per quarter—% 720

~ Estimated repairs and maintenance

cost of the machine p.a.—¥¢ 3,000

Power consumption of the machine—
20 units per hour

Rate of power per 100 units—& 20 .
Estimated working hours of the E.mnwm.m.
per wom?umwoe
Shop supervisor’s salary 3
per Bbbg.lﬂ ~ moo

\gﬁe@ww
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_ o ‘03‘» of Eﬁn&&,,vn:gac {in ¥}

jes ith of the toty
giop; The FUPETYIROL Ty
fthe 57 i1 of his time fo,
ol me:o. Normal idje
ing the © 300 hours pe,

o

d. What do you meap

mm overheads? Discugg

thods of absorption of
A+M+mp:

(b) Define overhea
py absorptiol
the different me
overheads:

. { a manufacturing concern
,Qw \Q.» ?G ﬁﬂQQﬁOn Qw two muﬂOOmeﬂm \0 gnw m

passes M‘.M.MMM ished stock. It is ascertain
.Mynm%”nmmn: process normally 5% of the
at U g

i ﬂm HOO\.& ww m.ﬁg«u

- weight 18 Jost an
Sn_&w RManm ¢ 80 per tonne and ¥ 200
i tonne from processes A and B
w“v«naﬁar The following are the
figures relating t0 both the processes :

Process—A  Process—§
1000 70
125 200
28,000 10,000
5,250

Materials {in tonnes)

Wages (in ) .
Manufacturing expenses in €) 8,000

(7)

Prepare Process Accounts showing cost.
per tonne of each process. There wasno
stock of work-in-progress in mnw. &
process. : ) &Aﬁ

Or

(b) Under what circumstances, an nnnnﬂu&wn._.v
needs to reconcile of Cost Accounts and
Financial Accounts? State the reasons =
for which profit from Cost Accounting
and that of Financial Accounting do not
tally. - 5+9=14
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(i) WEA A ____ AFS AR A ACEA - e
= | 74 Toif% 7 9,900
(iv) RRTRmE I R wHET Tesnfie w—200 (oMb fire € 84
% ; AT Beenfre wa—1600 b
3 - ] . » x&.ﬂum (m,
2. e frgped Te for (f1 o wiedn) | M .
@ ‘“am Rdew owae e cfifes sfes G5! AR T 1,90,000
siare 7 SfECh) amen 39 : T offaze a7 N e
) @ e we RS Rorr we W@ <l Mm@@x&zm@ i w@wwww
P16/7ST (Continued) | P16/757

S IRINTY (L T A ; | :_ il ﬁ,._



. P6/TE7

(b)

4. (a)

(10 )

= Tofd Afecsr AW eers =9 AR EF 60
o | e TR aw Afeeh Bedfre Ead
4 G_E%am@ﬁagmﬁu@%m@g

@l 20 S | G 7600 ¢, e 10
Qﬂﬁﬁmaﬁaﬂm%.

CIES

“foqmm wgs eM -mfe TR g b
orTER w1 A (3P S SffearTRa
a1 o e 340 |

T SR W e afed wRl e

“fiFq GF AR A7 [y 791 ¢

() CT%% 5 @G s

(i) fowafec= fon @ &l

(i) = T rafe

(iy) TTR TafS
ofs Segza I 9H1—48 9D
4f% 9%[ TgRA—E 3-75
4f® ¥4 —F 1-50
o waya sarae 920 fafn
of s Heyrza Mrad BeAmE—120 B
off% SiegrEa 2FS BeoAFE—150 bl
HIR A 97

BTS Termea THS 80% W T

v BeTs e ¢4 9% 120%

wwwa,ﬁ.;, ;,.;;:,. ﬁ:ﬁf ﬂ;.aJ dir i _f, :_;

14

14

B

,,, ., ;, |

B o B e e e R R o

(b)

5. (a)

( Continued | & Ple/757

B Ty wm&w& f& %17 duﬁ ﬁ.ﬁuMu ﬁﬁ ,

ﬁ_ﬂmgé%aﬁ?@gﬁ Py oo
4y ??X

TIR S Al 9fb TeoqrE s &\J w4 s
«fo cafeera 71 w1 fefy w4 : oy
G5 F—F 2,00,000 e
¥ 45— 20,000
HRAIF A2 TH—T 10,000
I Ol (I2A)—T 7,200
T MR fgal (2 awe)—e 800
1 7R afor awa ofs B AP 720
b STt s am (a5R)— 3,000
e g «fes aaem ofs wdre—00 6
frgfll e 2fs 100 coba Tr—2 20 ‘
S SRR 3 w61 (72R)—2300
¥ R wawm (A q0E)—€ 1,800

aferbies 3 wfem wfer vR R g e
?Eﬁ%ﬁﬁlﬁ«%@%é%ﬁ ;
a9 (Lth) W cfbachl r-feer wan
E@u@aﬁwmoom@%m@w%xﬁﬁ i
|




[ 129 e

23

(b) ot e e fi 1 SR A o T |

3@1? TRt e ez e AR A
39 | 4+2+8=1q

(Old Course }

Full Enlwm : 80
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6. (@) < SoapR Sedfie ¥ A WF B o enfia 1. (a) Choose the correct answer : o wxpna _
TGl TR W WE WA RS WE pe
WL A T | AP AR YRS S
5 Il 5 SGq (EAFHIA TH T 6w 10 it
Wi 29 1 X | o A WE R BY e
be @ & 80 Wi ¥ 200 WA W

(i) Prime cost/Production cost is the
combination of direct material,
direct labour and direct expenses.

(i) In ABC analysis, A indicates less
value/moderate value/high value

TS T SAPTR weTo il TR 14 material.
RifF—A f1—B . : :
18 (59) 1000 70 (1it) w:xmm cost per unit remains same/
offs e 7 < () 195 200 increases/ monw@mmmm when volume
it (€) 28,000 10,000 of production increases. ,
Mmﬁ MM VAJ mwmwo m“\,wwo (iv) mﬁmsa.ma costing is a method/
. i technique of Cost Accounting.

oo AT ofs G aw (AR i o
oS 1 GAD AACS BT TS R

Cicy (b) Fill in the blanks : 1x4=4
s 1231 i) In process costing, output of every
(b) o fre sifIc o < fome e fr8 process is the of next process.
e wrve iivere 33fe oy #faa o2 I (i) FIFO method if pricing issue
o wr RSy fEsrr o R sy T of material is suitable at the time
SR (RS FRTFGZ SITHABAT 391 | 5+9=14 of | .

EYoeEnt ( Turn Over |
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( 15 )

[ 14)
(i) Prime  cost under ; nw,cnoﬁb& ;
(0} . ,
condition is to be debite Stock in hand 31.03.2014 : |
i Raw materials 56350
. s is always

- Csnllamn S e Work-in-progress 9.1 n 35
% . Finished goods 15,750
Non-productive Wages : mw@.

2. Wri , ixdin 4 S
. Iite sho oun 16 AR papehA |
rt notes on (any f n Office and administrative expenses 3,160
4210

Selling expenses
Prepare a Cost Sheet showing the

(a) ABC analysis
14

following :

®). Cost of idie time
fij Cost of materials consumed

() Reconciliation of Cost Accounting and

Financjal Accountin
m .
Cost of production

(i)
(iti) Cost of goods sold

(q) Classification of cost
(iv) Profit for the month

(e) Machine hour rate
Or

(b) Define Cost Accounting. Briefly explain

3. (@) The following are the data taken from
different methods and techniques of

the Cost Accounts of a manufacturer in
Tespect of the month of March, 2014 :
i . T Cost Accounting. 4+4+6=14
Stock in hand on 01.03.2014 : s
Raw materials 25,000 |
Work-in-progress : 8,220 4. (a) Uﬁﬁﬂm the first week of uwbsmp% 2015,
Finished goods. 17,360 a worker Mr. Ashok manufactured
Purchase of raw materials o 21,900 300 articles. He received wages for a.
Sales of finished goods , 72,310 guaranted 48 hours week at the _.ﬂmﬁo
17,150

Uﬁwﬁ wages
Em .
, \.NM.N .\.Qoﬁgﬁmﬁ., , . P16/757
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( 16 )

A 174

‘of & 4 per hour. The estimated time tqo
produce one article is 10 minutes and

under the incentive scheme, the timg
allowed is increased by 20%. O.&oﬁmﬁo
his gross wage according to—

Maintenance and an?u.f ;

7-5% of cost of machine
Stores consumed—® 1,000 : ‘
Power consumption—

¥ 2 per onnasnm weE.

) m.&mom work with a guranted weekly msTasice Drefmivin -

. wage; & 1% of cost of machine
: Supervision expenses—& 7,500
() Rowan premium bonus; Estimated idle time—10%

(iii) Halsey premium bonus 50% to
workman. A+m+mu§

Or

(b) Define overhead. How are overheads
classified? Explain four reasons of

over-absorption and under-absorption
of overheads. 4+5+5=14

Or

(b) E Define labour turnover. Explain its
 reasons.

(i) Discuss the essential features of

nt method. .
ant’ideal wage payme (4+3) +7= 1 A;_ 6. (a) A product passes through three processes
, P, Q and R. The normal wastage of each

v process is as follows :
. _\&.. From the following data, calculate the
machine hour rate of a machine :

Cost of machine—¢ 30,500
Scrap value—€ 2,500
e ~ Estimated life—12 years
o e working deys ;
s e 200 days of 8 hours
100 days of 6 hours

Process P =5%, process Q= mo\o. and

process R =10%. Wastage of process P

was sold at ¥ 2 per unit, that of process Q -

at ¥ 5 per unit and that of vwoo.mmm Rat

¥ 10 per unit. 1000 units were issued to 5
process P in the beginning of April, 2015

a1, C o aie

e
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e marerais @ ) 2,000

c . wages (in T) , 5,000
Direct expenses (in ) 1,550

950

in units)

»nEE,.oEvE (i
Prep
assuming t
closing stocks.

Or

®

3,000
8,000

2,946
910

are Process Accounts of P, Q :
hat there were no oﬁmuwssa R
0

(b) ,ngn do you mean by Cost >¢a5
Cost Management? Explain how a -
auditor works in conducting cost mzmw

1
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THOR ¥ T—¢ 30,500 P Q R
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